
Verbindungseinrichtungen 
Made in Germany and Austria

Einbau- und  
Wartungsanleitung

Installation and Operating  
Instructions

Subject to technical changes without prior notice 
code: 1990697-A

Rühlicke GmbH 
Vahrenwalder Str. 269 A 
30179 Hannover 
Telefon: +49 511-674 89–0
Fax: +49 511-674 89–89
E-Mail: info@ruehlicke.de

NNmm  

kkggmm

0

0

10 20 30 40

Istruzioni di montaggio e uso
Einbau und Bedienungsanleitung
Instructions de montage et d'utilisation
Installation and operating  instructions 

Руководство по установке и эксплуатации

Monterings- och bruksanvisningar
طریقة تعلیم التركیب والاستعمال

Instrukcja montażu i eksploatacji

IT

DE

GB

RU

SE

PL

ES Instrucciones de montaje y uso

SA

FR

Subject to technical changes without prior notice code: 1990697-A



68T

80mm

40mm

45mm

50mm

57,5mm

45T - 76T

70mm

2/8

68T

R05

R10/R20/R30

40mm

45mm

50mm

57,5mm

45T - 76T

70mm

2/8

68T

R05

R10/R20/R30

40mm

45mm

50mm

57,5mm

45T - 76T

70mm

2/8

68T

R05

R10/R20/R30

40mm

45mm

50mm

57,5mm

45T - 76T

70mm

2/8

68T

R05

R10/R20/R30

9910011
991025
991031
991125
993031
993141
9980VS8065
9950W04
9957VS7570
OC70W00G
9976W01

200
200
200
200
200
200
200
200
175
220
175

120
120
120
120
160
180
180
350
120
380
120

Cod. A min (mm) B min (mm)

ISO 4063 
UNI EN 22553 

ISO E51 5 B 120 20 H;

3/8

90°

90°

90°

90° 9957.....

a7xB

A m
in

B m
in

a7xB

250°C

90°

90°

90°

90°

250°C

11

11

22

998080

9910011
991025
991031
991125
993031
993141
998080
9950W04
995775
OC70W00G
994580
Z014B
Z0641
Z0231

Cod. A min 
(mm)

B min 
(mm)

200
200
200
200
200
200
200
200
175
220
175
200
200
260

120
120
120
120
160
180
180
350
120
380
120
100
120
120



a7xB

90°

90°

90°

90°

B m
in

A

RO00001
RO00014
RO00036
RO00038
RO00039
RO00041
RO00059
RO00060
RO00061
RO00062

210
258
245
245
165
173
185
185
185
185

190
240
220
220
140
150
160
160
160
160

Cod. A (mm) B min (mm)
ISO 4063 
UNI EN 22553 

ISO E51 5 B 120 20 H;

a7xB

4/8

ROG01041

90°

90°

90°

90°

5/8

a10

ISO 4063 
UNI EN 22553 

ISO E51 5 B 120 20 H

sez. B-B

sez. A-A
99996688FF

ø 
50

 m
ax

999911665533++88BB//  
999933665533BB

for all screws

A

A

B

B



6/8

Cod.

9940R02
9945R01
9945R02
9945R03
9945R04
9945R07
9945T01
9950R01
9950R02
9950R03
9950R04
9950R05
9950R09
993583
9968R05
9968R10
9968R20
9968R30
9976R10

500-1000
480-550
410-480
410-480
410-480
500-1000
410-480
410-480
480-550
410-480
410-480
410-480
500-1000
500-1000
500-600
500-1000
500-1000
500-1000
500-1000

Nm

2

1

7

8

6

5

43

2

1

4

3

6

5

9957F
9968F

NNmm  

kkggmm

1

85

7 6

4

23

991653/995653
9916538B
993653

993653B
9957F61
9952F8E
OC68F8E

DIN 127 B16

 
 
 

6 x M16x55 10.9  
8 x M16x55 10.9  
6 x M16x55 10.9
+2x M16x60 10.9 
8 x M16x55 10.9 
6 x M16x55 10.9 
8 x M20x80 10.9 
8 x M20x65  10.9

220-260
220-260
220-260

220-260
220-260
400-500
400-500

Cod.
NNmm  

kkggmm

993653
n°6 spot face

993653B

M16x60

M16x60 M16x55

6/8

Cod.

9940R02
9945R01
9945R02
9945R03
9945R04
9945R07
9945T01
9950R01
9950R02
9950R03
9950R04
9950R05
9950R09
993583
9968R05
9968R10
9968R20
9968R30
9976R10

500-1000
480-550
410-480
410-480
410-480
500-1000
410-480
410-480
480-550
410-480
410-480
410-480
500-1000
500-1000
500-600
500-1000
500-1000
500-1000
500-1000

Nm

2

1

7

8

6

5

43

2

1

4

3

6

5

9957F
9968F

NNmm  

kkggmm

1

85

7 6

4

23

991653/995653
9916538B
993653

993653B
9957F61
9952F8E
OC68F8E

DIN 127 B16

 
 
 

6 x M16x55 10.9  
8 x M16x55 10.9  
6 x M16x55 10.9
+2x M16x60 10.9 
8 x M16x55 10.9 
6 x M16x55 10.9 
8 x M20x80 10.9 
8 x M20x65  10.9

220-260
220-260
220-260

220-260
220-260
400-500
400-500

Cod.
NNmm  

kkggmm

993653
n°6 spot face

993653B

M16x60

M16x60 M16x55

6/8

Cod.

9940R02
9945R01
9945R02
9945R03
9945R04
9945R07
9945T01
9950R01
9950R02
9950R03
9950R04
9950R05
9950R09
993583
9968R05
9968R10
9968R20
9968R30
9976R10

500-1000
480-550
410-480
410-480
410-480
500-1000
410-480
410-480
480-550
410-480
410-480
410-480
500-1000
500-1000
500-600
500-1000
500-1000
500-1000
500-1000

Nm

2

1

7

8

6

5

43

2

1

4

3

6

5

9957F
9968F

NNmm  

kkggmm

1

85

7 6

4

23

991653/995653
9916538B
993653

993653B
9957F61
9952F8E
OC68F8E

DIN 127 B16

 
 
 

6 x M16x55 10.9  
8 x M16x55 10.9  
6 x M16x55 10.9
+2x M16x60 10.9 
8 x M16x55 10.9 
6 x M16x55 10.9 
8 x M20x80 10.9 
8 x M20x65  10.9

220-260
220-260
220-260

220-260
220-260
400-500
400-500

Cod.
NNmm  

kkggmm

993653
n°6 spot face

993653B

M16x60

M16x60 M16x55

998011/
998014

998011/998014           8 x M16x55  10.9  220–260
9968F8E

a7xB

90°

90°

90°

90°

B m
in

A

RO00001
RO00014
RO00036
RO00038
RO00039
RO00041
RO00059
RO00060
RO00061
RO00062

210
258
245
245
165
173
185
185
185
185

190
240
220
220
140
150
160
160
160
160

Cod. A (mm) B min (mm)
ISO 4063 
UNI EN 22553 

ISO E51 5 B 120 20 H;

a7xB

4/8

201581

994580

Z039

Z044/998014
Z0436 45070

ROG00025 6xM16x55
ROG00026 8xM16x55
ROG00027 8xM20x70

Cod.

6/8

Cod.

9940R02
9945R01
9945R02
9945R03
9945R04
9945R07
9945T01
9950R01
9950R02
9950R03
9950R04
9950R05
9950R09
993583
9968R05
9968R10
9968R20
9968R30
9976R10

500-1000
480-550
410-480
410-480
410-480
500-1000
410-480
410-480
480-550
410-480
410-480
410-480
500-1000
500-1000
500-600
500-1000
500-1000
500-1000
500-1000

Nm

2

1

7

8

6

5

43

2

1

4

3

6

5

9957F
9968F

NNmm  

kkggmm

1

85

7 6

4

23

991653/995653
9916538B
993653

993653B
9957F61
9952F8E
OC68F8E

DIN 127 B16

 
 
 

6 x M16x55 10.9  
8 x M16x55 10.9  
6 x M16x55 10.9
+2x M16x60 10.9 
8 x M16x55 10.9 
6 x M16x55 10.9 
8 x M20x80 10.9 
8 x M20x65  10.9

220-260
220-260
220-260

220-260
220-260
400-500
400-500

Cod.
NNmm  

kkggmm

993653
n°6 spot face

993653B

M16x60

M16x60 M16x55

7/8

Ø max

A 
m

in

Ø maxØ int A min

40
45
50
57.5
70

41.5
46.5
51.5
59.5
71.5

28
67
41.5
19
74

(mm) (mm) (mm)

Ø min

Type Ø min

45T
68T
76T

32
37
37

(mm)

0

0

10 20 30 40

 ISO  TS 20825

 ISO  TS 20825

Km 3000
km 15000
km 30000
km 45000

Km 60000
km 75000
km 90000
km ..........

Cod.

9940R02
9945R01
9945R02
9945R03
9945R04
9945R07
9945T01
9950R01
9950R02
9950R03
9950R04
9950R05
9950R09
993583
9968R05
9968R10
9968R20
9968R30
9976R10

500-1000
480-550
410-480
410-480
410-480
500-1000
410-480
410-480
480-550
410-480
410-480
410-480
500-1000
500-1000
500-600
500-1000
500-1000
500-1000
500-1000

Nm

NNmm  

kkggmm

11 22

400°C

201581

994580 750-1000

750-1000

/998011HD

Z046 8 x 300



995048

NNmm  

kkggmm

0

0

10 20 30 40

Installation and operating instructions 

Safety footwear Respiratory protective
equipment

Safety gloves Eye protection

Visual check
Tightened with 
torque wrench

Attention and caution Lubricate

Risk of a limb injury Dimensional check

Welding requiredCheck and repeat

2/5

a10

90°

90°

90°

90°

Welding has 
to be done by 

skilled personnel



3 / 5

NNmm  

kkggmm

 70-100 Nm

STEP 1

1

2

3

4

5-12 mm

0

0

10 20 30 40

1

2

3

4

NNmm  

kkggmm

180-200 Nm180-200 Nm

After tightening, check if the 
torque of 180 - 200 Nm is 
retained by all screws, otherwise 
tighten again and repeat.

4 / 5

NNmm  

kkggmm

STEP 2



Ø max

A 
m

in

Ø  maxØ int A min

50 51.5 41.5

(mm) (mm) (mm)

0

0

10 20 30 40

 ISO  TS 20825

Km 1000
Km 2000
Km 3000
Km 4000

Km 5000
Km 6000
Km 7000
Km ..........

Cod.

995048 180 - 200

Nm

NNmm  

kkggmm

5 / 5

Wear check

Made in Germany & Austria

Rühlicke GmbH 
Vahrenwalder Str. 269 A 

30179 Hannover 
Telefon: +49 511-674 89–0

Fax: +49 511-674 89–89
E-Mail: info@ruehlicke.de


